BISON GEAR

UNDER THE SHELF COMPARTMENT
INSTALLATION GUIDE

SH-DRFR

Page1/6



BISON GEAR

1+ Before you start

Familiarize yourself with these instructions. The Under The Shelf
Compartment is shipped in one parcel. Ensure that all listed parts and
hardware are present in the package.

& Part list

No. PART QTY IMAGE

1 Compartment 1

M6 Flange nut

2 DIN 6923 6
M6x12 Flange
3 bolt 6
ISO 7380-2
P
4 Hook 1 \\ - ij;
="

5 Rubber cord 0.5m

Page2/6




BISON GEAR

A List of necessary tools':

- 4 mm Allen Key (Hex)
- 10 mmwrench

A Torque settings:

During assembly, use the recommended tightening torques for screw,
unless other parameters are specified for a given connection.

M5

=
T >

Torque Settings: \]

-

M&
=

45ftlbs 12 Nm
9 ft-lbs

—

TNOTE: The tools are not the part of the set.

Page3/6



BISON GEAR

& |nstallation:

Follow the steps below to install the product correctly:

1. Start by preparing all the parts and gathering the necessary tools.
2. Attach the compartment to the roof shelf using at least 4 M6 bolts and

nuts. Depending on your shelf, use either round or oblong holes
located on the top part of the compartment. Refer to the picture below.

M6 Flange nut

VNN I NN
A\ /N /A /A

M6x12 Flange bolt

Page4/6



BISON GEAR

3. Pass the cord through the hook and then through the base of the shelf
and tie it tightly. Refer to the pictures below

71

A\

= <
L\_Q'L%,

Ensure that everything is mounted correctly and all bolts are tightened. If
everything is in place, your installation is complete.

After driving 50 km with the rack on the roof, check all the bolts and

retighten them if necessary.

Page5/6



#% | BISON GEAR

Have a great time with Bison Gear product!

I

BISON
| GEAR |

Email: contact@bison-gear.com

Phone: +48 505 642 981

Page6/6



